DAILY BASIS ASSIGNMENT
ANSWER KEY
CLASS-V SUBJECT: ENGLISH

DATE: 26.05.2020

DAY: TUESDAY

l. 1.c. Complicated
Explanation: Complicated is not any type of sentence.
2.b. Full stop
Explanation: The full stop is used at the end of an indirect question. It is used to mark
the close of a complete sentence.
3. a. Comma
Explanation: The comma is used before and after a word used to address a person.
4.d. Subject
Explanation: A clause is a group of words which forms part of a sentence, and
contains a subject and a predicate of its own.

5. b. Subject
Explanation: The part of the sentence which denotes the person or thing about which

something is said, is called the subject of the sentence.
DATE: 27.05.2020
DAY: WEDNESDAY

1. b.are
Explanation: ‘Several spelling mistakes’ is plural. So, it will carry plural verb.
2. a.has
Explanation: Here ‘car’ is singular. So, it will carry singular verb.
3. ¢.Was
Explanation: Here ‘yesterday’ denotes past tense. So, was will be used.
4. b.are
Explanation: ‘Belts’ is plural. So, it will carry plural verb.
5. b.are
Explanation: ‘Both Raj and Varun’ is plural. So, it will carry plural verb.

DATE: 28.05.2020

DAY: THURSDAY

1. b.army
Explanation: collective noun used for a group of ants is army.



N

c. school
Explanation: collective noun used for a group of fish is school.
3. b.range
Explanation: collective noun used for a group of mountains is range.
4. d. audience
Explanation: collective noun used for a group of people is an audience.
5. a. choir
Explanation: collective noun used for a group of singers is choir.

DATE: 29.05.2020

DAY: FRIDAY

1) Answer- (c) Who's
Explanation: Who's the short form of Who is.
2) Answer- (a) their
Explanation: It is Sam and Jasmine’s party so there is used.
3) Answer- (b) you're
Explanation: you're is the short form of you are.
4) Answer- (d) theirs
Explanation: Here theirs is possessive pronouns for third person plural i.e. they.
5) Answer- (C) its
Explanation: Statue's pose and the third person possessive pronoun used for the statue is
its.

DATE: 30.05.2020
DAY: SATURDAY

1. a. someone/c. something
2. a.someone

3. b. anyone

4. c.something

5. d. anything

Explanation: Someone is generally used with positive sentences when the identity of a person
is not exactly known but is specific.

Anyone is generally used with negative or interrogative sentences when the identity of a
person is not exactly known but is interchangeable.

Something is generally used with positive sentences when the identity of an object is not
exactly known but is specific.

Anything is generally used with negative or interrogative sentences when the identity of an
object is not exactly known but is interchangeable.
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DBA(ANSWER KEY)

Date:-26/5/2020 (Tuesday)
1.d) 300
(3%x100=300)
2. a) 2,00,000
(2%x100000=2,00,000)
3. a)100000

4.b) 123479
(arrange in ascending order)
5. ¢) 98432

(arrange in descending order)

Date:- 27/5/2020 (Wednesday)
1. a)<
2. b) greater
(ex 5678>654)

3.a) 6,43,214<7,32,182<8,46,321<9,18,416
4.b) 89685127

(89685126+1=89685127)
5. d) 18748940

(18748941 -1 =18748940)

Date:- 28/5/2020( Thursday)
1. a) 9864310

(arrange in descending order)

2. b) 13579



(arrange in ascending order)
3. ¢) 8,432<8,46,321<9,18,461<94,18,362
4. ¢)9753210

(arrange in descending order)

5. a)2,61,842>1,46,321>72,846>65,872

Date:- 29/5/2020 (Friday)
1. )500

(5,00,000 = 500,000)
2. ¢) 400

(40,00,00,000 = 400,000,000)
3. 2)240,350
4. d) 74,632,814
5. a)3

(hundred thousand , ten thousand and one thousand)

Date:- 30/5//2020 (Saturday)
1. a)2,00,000

(Digit on the right side of lakh is more than 5 .So,1,65,763 is round off to nearest 100000 as
200000)

2. b)2,57,880
(Digit on the right side of tens is more than 5 .S0,2,57,876 is
round off to nearest 10 as 2,57,880)
3. ¢) 45,000

(Digit on the right side of thousand is less than 5 .S0,45,463 is round off to nearest 1000 as
45,000)

4. d) 1,700

(Digit on the right side of is hundred is more than 5 .So,1,683 is round off to nearest 100 as
1,700)

5. a) 9,60,000

(Digit on the right side of ten thousand is equal to 5 .So, 9,56,163 is round off to nearest
10000 as 9,60,000)






GURU GOBIND SINGH PUBLIC SCHOOL
DAILY  ASSIGNMENT
ANSWER KEY WITH EXPLANATIONS
DATE: 26.05.2020 TO 30.05.2020
STD.5 SUB. EVS

26.05.2020 ( TUESDAY)

1. (a) [winged seed]

Explanation: seeds of maple carried by wind because they possess winged seed.

2. (a) [buds]

Explanation : potato has buds known as eyes on it from where new plants can arise.

3. (a) [spore formation]

Explanation : ferns and fungi grow from spores.

4. (c) [rice]

Explanation : as rice do not reproduce by vegetative propagation.

5. (a) [it has spongy fibres on its surface]

Explanation : coconut has spongy fibres on its surface that enables it to float on water.

27.05.2020 (WEDNESDAY)

1. (d) [all of them]

Explanation : a seed germinate when it is sown in the good quality of soil and it receives
sufficient amount of water and correct temperature.

2. (c) [seed uses its stored food]

Explanation : the seed gets its food from the nutrients stored in the seed leaves.
3. (a) [water]

Explanation: roots absorbed water from the soil.

4. (c) [leaves]



Explanation : begonia grows from leaves.
5. (d) [all of them]
Explanation: seeds can be dispersed by air, water and explosion.

28.05.2020(THURSDAY)

1. (d) [irrigation]

Explanation : watering the crops is called irrigation.

2. (b) [june,july]

Explanation: kharif crops are sown in june and july.

3. (a) [rabi crops]

Explanation: wheat and gram belong to rabi crops.

4. (c) [rice and maize]

Explanation: examples of kharif crops are rice and maize.

5. (a) [crop]

Explanation: the same kind of plants grown and cultivated on a large scale at a place is called
crop.

29.05.2020 (FRIDAY)

1.(a) [wheat]

Explanation: wheat is a rabi crop.

2. (a) [pesticides]

Explanation : pests are controlled by chemicals called pesticides.

3. (¢) [unwanted plants growing along the crops]

Explanation : weeds are the unwanted plants growing along the crop.
4. (b) [rabi crops]

Explanation : rabi crops are grown in winter season.



5. (c) [farmer]
Explanation: the person who works on a farm is known as farmer.

30.05.2020 (SATURDAY)

1. (a) [manure]

Explanation : manure are added to the soil in the form of nutrients for the healthy growth of
plants.

2. (b) [weeds]

Explanation : weeds are the undesirable plants that grow along the crops.
3. (a) [wind]

Explanation: wind disperses seeds having wings or hair on them.

4. (b) [dispersal]

Explanation: the process by which seeds are scattered away from the parent plant is called
dispersal.

5. (b) [water]

Explanation : the seeds of mangrove plants are dispersed by water.



GURU GOBIND SINGH PUBLIC SCHOOL
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Daily Basis Assignment (Answers)
Dated-26.05.2020 To 30.05.2020
Subject — Computer

Class -5

Note: Correct answers of the following Questions are highlighted with parrot green colour and the explanations
of the correct options are also given.

Day: Tuesday
Date: 26.05.2020

i) Without software cannot be used.
(a) Hardware (b) Browser (c) Website (d) Data
EXPLANATION: Hardware and software both are interrelated to each other. Both work together
i) helps us to draw and colour pictures
(@ MS Word (b) MS Excel (c) MS Paint (d) MS Access
EXPLANATION: It helps us to draw and colour pictures.
iii) can be stored and retrieved from floppy disk, hard disk, etc.
(a) Program (b) Software (c) Both (a) and (b) (d) Browser

EXPLANATION: Program and software can be stored and retrieved from floppy disk, hard disk, etc. It has
no physical shape and cannot be touched by us.

iv) Even the most advanced computer cannot work by itself without
(@) Firmware (b) Liveware (c) Software (d) Hardware
EXPLANATION: It include all the people associated with computer and their use. It is the most advanced
computer cannot work by itself without

v) An example of hardware
(a) Paint (b) Switches (c) MS Word (d) Opera Mini
EXPLANATION: Switches are example of hardware which can be touched and feel by us.

Day: Wednesday
Date: 27.05.2020
i) Without software cannot be used.
(a) Hardware (b) Browser (c) Website (d) Data
EXPLANATION: Hardware and software both are interrelated to each other. Both work together

ii) The hardware perform a task only when told to do so by the
(a) Programmer (b) Developer (c) Input (d) Software
EXPLANATION: Software control the whole system. It tells the hardware what to do, when to do and how
to do the operation.

iii) An example of hardware
(a) Paint (b) Switches (c) MS Word (d) Opera Mini
EXPLANATION: Switches are example of hardware which can be touched and feel by us.

iv) Operators, programmers, software engineers etc are the examples of
(a) Liveware (b) Firmware (c) Developer (d) Both (b) and (c)
EXPLANATION: Itincludes all the people associated with computer and their use. It is the most advanced
computer cannot work by itself without

v) The physical component of computer that we can see and touch are called
(a) Hardware (b) Software (c) Liveware (d) Firmware



EXPLANATION: Hardware is the physical component of computer that we can see and touch.

Day: Thursday
Date: 28.05.2020

i) Computer calculate and process with amazing
(@) Power (b) Speed (c) Efficiency (d) Rate
EXPLANATION: Computer works in a high speed. It gives output in a fraction of seconds.

ii) Computers are used in
(@) Public services (b) Defense (c) Art (d) Both (a) and (b)
EXPLANATION: Computers are used in many places like public places defence, Medical, Art, etc. It makes
our work simple.

iii) Computers play a vital role in
(a) Boosting research (b) Planning (c) Both (a) and (b) (d) Controlling
EXPLANATION: Computers play a vital role in Boosting research and planning.

iv) never make mistakes even if asked to process billions of data
(a) Calculator (b) Computer (c) Both (a) and (d) (d) Printer
EXPLANATION: Computer never make mistakes even if asked to process billions of data. At a times
computer give correct answers of billions of data.

V) help in making our routine task much more quicker, error free and easier
(a) Computer (b) Developer (c) Liveware (d) Software
EXPLANATION: It help in making our routine task much more quicker, error free and easier. It also makes
our work simple

Day: Friday

Date: 29.05.2020

i)

i)

All input, processing and output and accessories are included in
(@) Software (b)Hardware (c) Liveware (d) Firmware
EXPLANATION: Hardware is the physical component of computer that we can see and touch.

can be sorted, separated, compared, arithmetically operated upon, etc
(@) Information (b) Program (c) Data (d) Software
EXPLANATION: It can be sorted, separated, compared, arithmetically operated upon, etc. Data can be store
for future use.

A computer system has a number of which work together to execute a given task

(@) Liveware (b) Firmware (c) Component (d) Both (b) and (c)
EXPLANATION: Like in other systems, a computer system also has a number of components which work
together to execute a given task.

Result of processing is known as
(a) Output (b) Hardware (c) Liveware (d) Firmware
EXPLANATION: The processed data by the computer is known as output. It is also called as result.

The desired output that the computer gives out, which is useful to us in some way is called
(@) Information (b) Firmware (c) Component (d) Both (b) and (c)
EXPLANATION: It is the desired output that the computer gives out, which is useful to us.

Day: Saturday
Date: 30.05.2020

i)

The component of a computer system that doesn’t have physical shape

(a) Hardware (b) Software (c) Storage device (d) Both (a) and (b)
EXPLANATION: Software cannot be touched and feel. It give command to the hardware .It doesn’t have
physical shape.



i)

i)

The need and importance of growing immensely each day

(a) Computer (b) Software (c) Storage device (d) Website
EXPLANATION: Day by day computers are using everywhere. The need and importance of growing
immensely each day.

Example of Application Software

(@) DOS (b) Windows (c) MS Paint (d) Unix
EXPLANATION: MS Paint is an example of application software. Application Software are designed to
perform a special task.

Floppy disk/CD-ROM with program stored in it is an example of
(@) Program (b) Windows (c) Software (d) Firmware
EXPLANATION: Floppy disk/CD-ROM with program stored in firmware. It can do some specific task.

Those actions/operations that a computer performs is called

(a) Processing (b) Analyze (c) Calculation (d) Browsing
EXPLANATION: Processing are those actions/operations that a computer performs. Processing can be done
inside the CPU.
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